
 
Free Standing Blind Installation Instructions – Part 1 

1 
 

 



 
Free Standing Blind Installation Instructions – Part 1 

2 
 

 

 

  

 

Lay door panel front section face down 

Fit first side panel to top of main support leg ensuring the side wall is fitted tight to the support 

block of the main frame 



 
Free Standing Blind Installation Instructions – Part 1 

3 
 

 

 

 

 

Fix first side panel to front panel using 100mm screws provided- top middle and bottom, these 

fixings are temporary fixings. ( 3  x 100mm screws needed) 



 
Free Standing Blind Installation Instructions – Part 1 

4 
 

   

 

Fix second side panel as per previous side 

panel- fix using 3 x 100mm screws . These 

fixings are temporary. 

3 x 100mm screws needed 



 
Free Standing Blind Installation Instructions – Part 1 

5 
 

 

 

    

        

 

Carefully lift back panel section onto 

side panels and fix as before using 3 

x 100mm screws to side walls. 

6 x 100mm screws needed 



 
Free Standing Blind Installation Instructions – Part 1 

6 
 

  

 

Temporarily fix one of the approx. 3.0m 38x63mm 

diagonal support braces between the bottom rails of the 

front and back frames for support whilst lifting the blind to 

upright using 1 x 100mm screw at each end 

2 x 100mm screws needed 

Lift the blind and temporarily fit the  

4x4 diagonal brace support block 

under the blind to aid lifting the blind 

to upright 

Gives space for hands / fingers 



 
Free Standing Blind Installation Instructions – Part 1 

7 
 

      

         

 

  

PREPARE GROUND TO ENSURE LEVEL AND FLAT 

WHERE THE SUPPORT LEGS WILL GO.  

Carefully and slowly lift the blind upright 

 CHECK BLIND IS LEVEL & UPRIGHT 



 
Free Standing Blind Installation Instructions – Part 1 

8 
 

 

 

 

                                                  

 

                                                                     

 

Fit ladder to front panel doorway. Fix ladder to top and bottom rails using 4 X M10 x 110mm coach bolts , 

washers and nuts. Pre-drill holes using 10mm drill bit. 4 x 110mm coach bolts, washers and nuts needed. 



 
Free Standing Blind Installation Instructions – Part 1 

9 
 

 

 

 

 

 

 

 

 

 

  

Fit the floor bearer joist hangers to the bottom rail of the side panels using 

30mm screws provided. Must be on the short side panels 

1. Fit left hand hanger 5½ inches from the end to centre of hanger   

 

Ensure the bottom of the joist hangers sit flush with the bottom of the 

timber 

 

 

2. Fit centre hanger in the middle. 

 

 

 

 

3. Fit right hand hanger 5½ inches from the end to centre of hanger 

               

                         Copy above for both sides 

                                        48 x 30mm screws needed. 

 

 


